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Arithmetic & Quantitative Aptitude

Directions: - Question 1 to 5 — what should come in place of the question mark
(7} in ihe following questions?

(1) 22.5%32.4+45 = (7
(a) 164 (b) 152 {c} 158 {d) 166 (¢) None of these
(2) 305525 x 3.4+125 = () '

() 520.50 (b) 418.28 () 662.68 (d) 540:48 (¢} None of these

(3) (5)° x (25)? x 125 = (5)(?)
{a) 9 {b) 7 {c) 8 (dj 11 {e) None of these
(4)3/40f2/50f2/3of (?) = 1616

(@) 8080  (b) 8000  (¢) 8050  (d) 8020  (c) None of these
(5) V1764 x V576 + (4P = (2P

Directions: - Question 6 to 20 - study the information given below and answer
the guestions that follow:-

(6) An article was bought for T5600. Its price was marked up by 12%. There
after it was sold aflter a discount of 5% of the marked price. What was the
marked price of the article?

{&) T6027 (b) 6242  (c) 6292 (d)I6192 () 6272

(7} What was the percent profit on the transaction?

{a) 6.8% (b) 6.3% (¢} 6.4% {d) 6.6% (e) 6.2%

(8) The average weight of 21 boys was rccorded as 64Kgs. If the weight of the
teacher was added, the average increased by one Kg. What was the teacher’s
welght?

(a) 86Kgs  (b) 64 Kgs (c) 72 Kgs . (d) 98 Kgs {e) None of these ‘
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(9) What would be simple interest accrued in 4 years on a principal of
318440 @15% per annum?

(@) 11075 (b) 12250 (c) 11500 (d) 12985 (e} None of these

{10) A truck covers a distance of 640 Kms in 10 hours. A car covers the
same distance in 8 hours. What is the respective ratio between the speed of
the truck and the car?

(a) 3:4 (b) 1:2 {c) 5:6 (d) 6:7 (e) None of these

(11) The sum of 15% of a positive number and 20% of the same number is
126. What is one-third of that number?

(@) 360 (b) 1080 (c) 120 (d) 40  (e) None of these

{12) Gopal scored 80% marks in five subjects; viz., Hindi, Science, Maths,
English & Sanskrit together, wherein the maximum marks of each subject
were 105. How many marks did Gopal score in science if he scored 89
marks in Hindi, 92 marks in Sanskrit, 98 marks in Maths and 81 marks in
English?

(a) 60 (b) 75 (c) 65 (d) 70 (e) None of these

(13) What is the difference between the compound interest and simple
interest accrued on an amount of ¥ 16,200.00 at the end of 3 years @ 25%
(rounded off up to two digits after decimalj?

(a) T3213.44 (b) ¥3302.42 (c) ¥3495.28 (d)X3290.63
(e) None of these

(14) The area of a rectangle is equal to the area of a circle with
circumference equal to 39.6 metres. What is the length of the rectangle if its
breadth is 4.5 metres?

(a) 33.52 metres  (b) 21.63 metres (c) 31.77 metres (d) 27.72 metre
{e) None of these

(15) On Children’s day sweets were to be equally distributed amongst 300
children. But on that particular day, 50 children remained absent. Hence
each child got one sweet extra. How many sweets were distributed?

(a) 1450 (b) 1700 (c) 1500 (d) 1650 (e) Cannot be determined
{16) 3 Women and 18 children together take two days to complete a piece
of work. How many days will 9 children alone take to complete the piece of

work if 6 women alone can complete the piece of work in three days?

(@ 9 (b) 7 (¢} 5 (d) 6 (e) None of these
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(17) A reservoir can be filled by two taps in 6 hours and 9 hours
respectively. The first tap was opened at 7 AM and the second tap at 8 AM.
At what O’ clock will the reservoir be full?

(a) 11 P.M. (b) 12 Noon ()1 PM. - {d} 11 A.M. (e) None of these

(18) The LCM and HCF of two numbers are 4125 and 25 respectively. One

number is 375. Find by how much is the second number less than the first?
(a) 100 (b) 50 () 75 (d) 25 (e) None of these

(19) Average age of a father and his two sons is 27 years. Five years ago,
the average age of the two sons is 12 years. If the difference between the

ages of the two sons is 4 years, then the present age of the father is

(a) 34 years (b) 47 years (c) 64 years (d) 27 years
(e) None of these

(20) The time of oscillation of a pendulum varies as the square root of its
length. If a pendulum of length 40 cm oscillates once a second, then the
length of the pendulum oscillating once in 2.5 second is

(@) 175¢cm  (b) 200cm (¢) 225cm (d) 150 cm  (e) 250 cm

English Grammar (Marks 1x15)

Directions: Question 21 to 25:- In the following questions, choose the word
opposite in meaning to the given word and mark it in the answer sheet

21)Emancipate

(a) Endanger (b) Enslave (c) Evict {d) Entice
22)Malign

(a) Protect (b) Promote (c) Praise (d) Pacify
23)Energetic

(a) Passive (b) Weakened (c) Obtuse (d) Lethargic
24)Perpetual

(a) Incidental (b) Occasional (] Accidental (d) Intermittent
25)Barbarous

(a) Civil (b) Civilised (c) Calm (d) Cool
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